N = 0l & At & Ml A

SN LD
FH: MgH DA (LY /AL - HEX )
el TEA He2el (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
=0 771,193 632,250 138,943
= 29,343
Al 741,850
HMegH zAsH (LIS /ANLSHY - WEXH) 627,654 419,131 208,523
= 29,343
Al 598,311
XA X2l 562,982 419,131 143,851
= 29,343
Al 533,639
N Mo g8 533,639 104,764 428,875
101 bl 37,930 0 37,930
04 JI2ZtHZ22HSE* 37,930 0 37,930
= 0l & 37,930 0 37,930
OXNYM =JIDXAM 2 JI2tH2 2 2l
rals] 15,374
—-JIE2= 68,4703 «8BAl 2tx1H +21 2 x 118 11,957
-5 6,470 R *BAI 2t x 1H x5 112 2,847
— XY 6,4703 *x8AI 2tx1H + 118 570
OXEA =JIDXAM 2= JI2AHZ =X A
g3 1,855
—-JIE2= 780R *BA| 2hx 1B »21U « 11 1,442
- F=5Y 7803 xBAI 2t *x1H x5Fx 112 344
PN 780 *BAl 2t x 1B+ 113 69
OXEA =JIDXAM & JI2ANIZ2A 2
s 1,736
—=30H3 17,229,0002 *45/1,000 776
—A422d 17,229,000 *30.6/1,000 528
—LoXINQYEE 528,000 +65.5/1,000 35
B = k= 17,229,0002 *15/1,000 259
—MHEH 17,229,0002 *8/1,000 138
OXZA Mt & = JI2ENZ 2 A
ol A HI 15,374
—Ji2as 6,470 3 «8Al 2tx1H +21d x 112 11,957
- F5¢ 6,470 & xBAI 2t x 1B x5+ 112 2,847
— 9 xag 6,470 *8Al 2+ x1H x 113 570
OXZA Mot & = JI2tHNZ2 2
MEUF 1,855
-Ji2= 7803 *BAI 2t x1Hx21L x 118 1,442
- =534 7803 *BAI Z2tx1H x5F+11& 344
— XY 7803 xBAl Z2tx1H x 118 69




SH: H4D
M MY Hagi(detssa™ /AL - THEXH)
erol: XAl A e (crol:za
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
OXNEA Mgt &€ =2 JI2tH=22 X
== 1,736
—=30dH3 17,229,000& *45/1,000 776
—2HLEE 17,229,000€ *x30.6/1,000 528
—LOIMIRAESE  528,000&*65.5/1,000 35
—NEEE 17,229,000 *15/1,000 259
—AMEE 17,229,000& *8/1,000 138
201 B2 A | 343,039 82,964 260,075
01 AR2t2lyl 122,650 35,180 87,470
= Ol & 122,650 35,180 87,470
OXZA M DX A M
75& %100,000H *53] 37,500
OXNSIIHEERE =2 15,850
— QY AIEIIE HEE2
80& 170,000 13,600
—2ielEs Ha AR AEaENELLE
15,000, 000& *63] *2.5% 2,250
OMNMERHEY 2SI 42F 2|
20,000& 10~ 12& 240
O3t =2 S MY HEHI
200,000& *50AH 10,000
OEsA AFUA SIHEE =42
1,000& *10,00024 10,000
OJteixM 5 A 2 IS
50,000& « 124 600
OMEs&Ed-2s&H 238 A3 Q!
ull 300,000& = 12& 3,600
OdXtu=2gs L& 2ALSHEBIA 018 20,020
—SF MM ¥ 2 AHA
(4402 x2,500H )+(55& 160,000 ) 9,900
—HZE XA AH MBlA 7,920,000 7,920
— MEOOIH 2353 AMHIA 2,200,000 2,200
OMYE XN sEsdE X3 AHHA Ol8s 10,600
— LIOIATIIEB(F) 5,300,000& 5,300
— D20 YIBEZ(F) 5,300,000& 5,300
OME X d2=x3 =2 2,000& *3,30021 6,600
OJIEtHA dES=E =5 3,000& *80021 2,400
OXNZEAN EH4FL 3,000
— NgAHAR 100,000& =10& 1,000
— NS AMEAR 50,000& 10 500
— XA MY 50,000& *30# 1,500




SN WA
Za: G HASH(LHITYH/ ML - MEX)
Sl XA MR CERED
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OFTZA=AI EU 2|
70,0002 *1CH * 122 840
OME #SBYR 225 SAY
7,00021 + 1002 »23] 1,400
02 2z2YH| 220,389 47,784 172,605
= 0l 4t 222,308 47,784 174,524
OXNA 2 MY DALY RXS4
Hl 975,0002! +12% 11,700
OHME XY SAAAMAAL SN2 4|
(361,0002 128 »1CH )+(338, 0002 * 128 #2 12,444
]
)
OMYREY HET HXALEL BLSE S/
W e 14,500, 00021 14,500
OXNLA 2E3 173,328
- S92l 1,930% +80021 * 122 18,528
— s 3002 #43,00024 *122 154,800
osdesz 8,136
-~ B0ES S423
(45,0002 *13CH* 128 )+(20, 0002 #3CH * 128 7,740
)
— MBS 2HHYI| SHRS
11,0002 *3CH =122 396
OBENT(NLH+ESS) 2EE
50,0002 *4CH 2,200
=213l ( 220,389) | ( 222,308) | ( A1,919)
OMLREY HET HXALE BLSE S/
W 12,581,0002! |( 12,581 | ( 14,500) | ( ~1,919)
202 01t 20,080 5,000 15,080
01 2UHoidl 20,080 5,000 15,080
=0 & 20,080 5,000 15,080
OXMEH B+2S oftl
(200, 0002 %342 x23] )+(200, 0002 +9 2 x23] 17,200
)
OXMEN H+&S oftl (M)
20,0009! +22 +65| * 122 2,880
203 ALEY| 3,600 1,800 1,800
03 ANEZFAREZY 3,600 1,800 1,800
= 0 4 3,600 1,800 1,800
oML+ g2z 3,600,0002 3,600
303 EA3 124,000 15,000 109,000
01 Z&2 124,000 15,000 109,000
= 0 4t 124,000 15,000 109,000




2A: FaD
FH: MEgH zASHYSSHEY/NLHE - HWEXH)
S XA M2l (o2&
x s . 0 & o & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OXZA MIE Za3 30,000,000 +43 120,000
OMZMESEEEAIAE 2IEI A4
4,000,000& %13 4,000
405 RHatFE SHI 4,990 0 4,990
01 XML SEZHSHI 4,990 0 4,990
= 0fl &F 4,990 0 4,990
OFS HoWYXS LyT2AY 2
750,000 *3CH 2,250
OXZotE sHESZHHZLI 2
350, 0003 *2CH 700
Ofsgdis dstaoid 2
180,000 *3CH 540
Ol Mz (XNEHQHBH(HSH)
-< 300, 0003 «5CH 1,500
SAMEN FE8S 29,343 0 29,343
& 29,343
201 et 4 16,000 0 16,000
= 16,000
01 AtR2Zeldl 16,000 0 16,000
= 16,000
=218 ( 16,000) | ( 0)] ( 16,000)
(&= 16,000) | ( 0)] ( 16,000)
OMZHeEI} RESB2H E&XN AE(H
gd) 16,000, 000& |( 16,000) | ( 0)] ( 16,000)
(& 16,000) | ( 0)] ( 16,000)
202 Ol 10,192 0 10,192
& 10,192
01 =AYl 6,109 0 6,109
< 6,109
=& 18 ( 6,109) | ( 0)] ( 6,109)
(&= 6,109) | ( 0)] ( 6,109)
OMEAM 83 U (H48A)
6,109,000& |( 6,109) | ( 0)] ( 6,109)
(= 6,109) | ( 0)] ( 6,109)
04 =W HI 4,083 0 4,083
= 4,083
=218 ( 4,083) | ( 0)] ( 4,083)
(&= 4,083) | ( 0)] ( 4,083)
OMZHCEI} RS32H A (L8
&) 4,083,000& |( 4,083) | ( 0)] ( 4,083)




2N AL
M YYHW AU /NUYHE - WEXH)
Sl XA M 2el (CHel &)
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
(= 4,083) 0) 4,083)
405  KHAHE S 3,151 0 3,151
[= 3,151
01 THAtRSEFSH| 3,151 0 3,151
[~ 3,151
=213 ( 3,151) 0) 3,151)
(= 3,151) 0) 3,151)
OMYH HLas 22 2UH(H4EA)
3,151,000 |( 3,151) 0) 3,151)
(= 3,151) 0) 3,151)
HlQl=2 XM 2el 64,672 0 64,672
ML igHo sSREL 64,672 0 64,672
201 L2 HH| 24,672 0 24,672
01 At 22lH| 24,540 0 24,540
=0l At 24,540 0 24,540
ONYLMYSEDIXA ME  482+50,0000H 2,400
OM2= HMYDIXA HE
1802 3,500 *43] 2,520
OMAE Mg B MRIHE £42
4,000,000 122 2. 5% 1,200
ON22e MY BEsd 28 2 HR2=2
2 1,000 *1,0002H 1,000
OJAAHZ 018 222 802 %22, 5004 1,800
OXXt 2R 02442 15,620
— o2 U GHAMHA 3,300,000 3,300
—HZE MA$Y AAHAMHIA 7,920,000 7,920
—AM2EBMNHA 2,200,000 2,200
— NEOO0H LSsAMHIA 2,200,000 2,200
02 22=29H| 132 0 132
=0l At 132 0 132
O0lSAl JtEY)| SH2
11,0002 «1CH*12” 132
303 ZAZ 40,000 0 40,000
01 Za2 40,000 0 40,000
=20l At 40,000 0 40,000
OLEE N2 MM BaTAZ
10,000,000 *43] 40,000
HY2HAH (Z2=)(IEHIIE 143,539 213,119 269,580
ol 29| 52,609 58,571 A5,962
|




SN LD
M HESHZHI (A=) (JIEHIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
ol 2A | 52,609 58,571 N5,962
101 ol A H| 52,609 58,571 N5,962
02 JIEt2E S 52,609 58,571 N5,962
= 0ff A 52,609 58,571 N5,962
OXNZA ME& = AIZEH AR Q124 H| 47,799
—-JlE23 1,582,910& x2H ~12& 37,990
—ItEx< 60,000& x2H x12& 1,440
— NESHHIEX 4 465,3303 x1H 43| 1,862
— A g8 X4 52,5003 x2H x12& 1,260
— HHZAH| 78,000 x2H x12& 1,872
— I8 At
1,582,910 «84%*86%*1/30Al 2t 1/4 Al 2t %2 687
(mz]
*36/\|73
— X2 4,000 2 %28 Al 2tx 128 2,688
OXNYA HeEda= AMEHHAE B2 4,810
— =03 47,799,000& *45/1,000 2,151
—HLEE 47,799,000 *30.6/1,000 1,463
— Lo AEH
1,463,000& *65.5/1,000 96
- 1N188E 47,799,000 *15/1,000 717
—MHEE 47,799,000 *8/1,000 383
| 2 Z& I 90,930 154,548 N63,618
Jl2&Hl 90,930 75,828 15,102
201 Bt A H| 36,720 31,308 5,412
01 Ar®2t2ltl 36,720 31,308 5,412
= 0l & 36,720 31,308 5,412
ORBASYII=2EH 36,720
— 2Bt ZH| 40,000 *34H x12& 16,320
— = 2| 50,000& *34H = 12& 20,400
202 04| 48,960 40,320 8,640
01 Z2LWA b 48,960 40,320 8,640
= 0l & 48,960 40,320 8,640
Og2=&I20l 120,000& *34H = 12& 48,960
203 YRF&| 4,440 4,200 240
04 BENSIAREAY 4,440 4,200 240
=0l & 4,440 4,200 240
ORANSIELRF=AH|
(350,000 +(5,0002 4% ) )x12& 4,440
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